15.11,2017

This week in maths we have been solving addition sums. Here are
some word problems.

Remember to :

Underline the important information
Write the number sentence

Check that the answer is reasonable

e Tom had 12 coins in a piggy bank. His dad gave him 5 more coins as pocket
money. How many coins does he have altogether?
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e A packet has 3 sweets inside. How many sweets would there be
in 4 packets? W %

e Ben has 14 pens. Sam has 8 pens. How many pens do they have
altogether?

e Some hens lay 5 eggs, 6 eggs and 13 eggs. How many eggs
altogether?










